Int 3MA C10 DDAY Sequences & Series Name:

%U’/ Period: Group #

1. Find the sum algebraically 1231(200(0.8)"")
219z (1-.8")"
S, - (I--§")
(1-.%)

= [354.6294 ]

2. Find the sum of the sequence:
3 6 12

2

3

3. Find nif 5, =-1458 for 3 (15 -3n)
n=1

Sh: Q’(@,ﬂ“an)
ysg = 2 (12+15730)
~99)6 =N (27-3n)
O = 3n*-QIn-L96
0= n*-9n-972

= 9+ 63
= 9 I¥8I-S VBI-TET) 5 S -23

3d]

4. Given the series 2368 +592+148+... findnif
=2.3125 .
a, =2
n -1
aﬂ = av -

n-|
2.3125= 2368 (4) .
. 0009765625 = 25

/ 09-25 (' OOOqF?éS‘éZS} =n-l

!

5. Find a, algebraically for the arithmetic sequence
if a,=282, a,=414

a [s— Qo +('9~10)d O(;O:Q,"'C?[d
Y)g= 282+ Sd 282=,+ 237
d= 6.4 Q, = 44.4

m,,,: H4.4 + (n-1) (zc,,qﬂ

6. Find the sum of the first 42 terms of 43+60+77 +...
Hz
) Ei;;L*21-:: 'EE:T <i’£’; Ez) | (i:l L)?:T)
, 740
b Qyp= U3+ (42 (1%) =

Sup= 21 (H3+740)

—

-—

7. Find the sum: 1192+1181+1170+...+389
d= -1
An= a,+ (h—l)d
389= 1192+ (n-N(-1
—> n="774

8. Evaluate algebraically
11

> (Tn-4)

n=-3

- )=/ )
Nn=1-(-3)+l —zﬂsm

[S?f‘4*2Y744 : *7 (LTg) _.L{ = ~2| -y > -25

@E’L—m "7(“>—L{ =77-4 - 13
Is< Is
2 (-25+%3)

_ 1&())@2438@3
4= 2

=|5%,497 |

S,

=|‘3@OZ



9. Prove by induction: —32+—l2+8+...+(20n—52)=w
"éiff o “22% <22 /O

2
) ) -32 =
Provetrue fornz=l g5 o ] (20-39
g (20 -84)
' =i _ =
Assurne trve foc n=k ~324 2+ &+ + ADK-S2 z
S )-89
(e +) (200t
P(O\ff' '-{'T‘Mﬁ R)r N "324",2"’8{'"' f’(golt’ SZ)+ZO(I[1'/)
K (20Kk-84) | . (30k-32)
e ;
2
2062 Bl tHok -6Y
> =
a0k? - Yyl —bY
= =
(e [200et)-59)  Qer)(2000e40) B4\
2 a L
QED
10. Calculate the angle A of AABC given 11. Solve for all angles within [0,2”]. Show work.
=114,b=16,c=8.7 | g
a C cotH:—é'J% > Tl tan B= _“;_géz_
R4 16 V3/2 /2
L &
Y%= 8,7 +16™- 2(3. (1K) coc A
LA  43.56°
12. Solve all roots of y=x"—5x* —17x+21 13. On February 10, 1990, high tide in Boston was at
L_31j 327 2| midnight. The water level at high tide was 9.9 feet; later, at

low tide, it was 0.1 feet. Assuming the next high tide is

_i/ ] -6 -17 21 exactly 12 hours later and that the height of the water is
& 1 -y -2 !)( = ] given by a sine or cosine curve, find a formula for water level
I -d 21 @ in Boston as a function of time.

( x 3)(x+3)=0

g Sl
X=4x-21 =0 i { MI .\ //* y= y9cos 2XtE
'8 \\
]x'=7ZJX=f3] . —+
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